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Question 1:
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(a)[2] Determine/0 di;[ea“ta”(x)]dx. :[Ca,rdto% (X)]Ol b C&"C - 6'—&_(

N aretan (x)
(b)[2] Determine di; {/o garetan (¢) dt}. = g L? F.T.C.
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(d)[4] Determine/cos\(/_;/)—() dx. At = ’XL) A~ = i— X * oA X
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Question 2:

(a)[4] Determine /(t+1)ln(t)dt. us Lnlh) ) oly= (t:‘) ot
, = féo&t VR Bk

o L= funJ'U’ = uL'U‘-f’U'o(M
= Luet)r (Eat) - f( L) (&) otr

= L@ () - (L out
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(b)[6] Determine /e_x sin (x)dx = L

A= éx;o(\f' = St (x) ok X

A = ¢ Jx = = oS () o x
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Question 3:

" E 3 3
@)17] Evaluate/o cos” (x) sin’(x) dx . = f S (x) (l’SH/\ Cx)) cos (x) AKX .
0
L—J “w = SC""(—?‘)‘ ’% X =0 2 = S:\A(cﬂ =0
A= Ceas (x) o, XK= = M:s;‘.,\('%)—,l
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= L- L
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= s
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(b)[3] Determine/cot(wx) dx . = Co§ (T)c) A—X =T
S{V\(Tx)
Lk = sin (%)

Ao = cos (Tx) colx
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x3v/x2 -9

dx .

Question 4 [10 points]: Determine /

LA K= et & 5 Sec & F 5
Ax= 3sec @ TanG As

. T = / sH + 3 secor B Lo
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Question 5 [10 points]: Determine / EIaC dx . = /7,——z
| (344

X
_,,.L—-—--—-——' - _'.é}__..(. L + __Q___..
x* (k<) % x5 xtY
A x(xttt) + B () + Cx™
B XL(XH)
_ (At X+ (4A<8) 7 + 1B
% (xt4)
s At(C=0
4A+B =0 N
"(L)) :( } —_ g"‘—’ g{/
U T |
b= % T e
e - — L..l-—
C= —4 (6

x¥ e xy

7(+L/' +Cj
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